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Identities will always
have the following two
properties:

1) If you graph the left
and right sides, you
will obtain exactly the
same graph.

2) If you plug in the
same angle for x on
both sides, you will
obtain exactly the
same number.

2) Prove: cscxcosx = cotx

=secx
cotxcosxtanx
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) 1—sinxcosx
1) secx—sinx=——""7"
COS X

3) sec’ x+cotx=—7—
cos® xsinx

COS X —sin x
5) cscx—secx=——"—-
sin x cos x

sin x +cos’ x

sin xcos x +sin” x

2) sinx+tanxsinx =
COS X

cosx —sin’ x

c a2

4) csc? x—tan x =
sin® x cos x

1—sinx

6) secx—tanx =

COS X
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2) cosx+tanxsinx =secx

3) tanx+cotx=secxcscx 4) 1+tan® x =sec’ x

5) secx—cosx =tanxsinx 6) Sin x 4 cot X Cos X = CsC x
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secx . sin x + tan x
—=3inx 2) _
cot x+tan x cosx+1

COSX —CSCX sin x + cos x
3) cosxocsex 4) Sinx*oosx

=cotx =SIn XxCcoS x

sin x —secx SecC X +cscx

5) tanx—sinle—cosx 6) 1+cosx

=cotx

tan x sin x sin x tan x +sin x
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